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1. A bag contains 5 pjaep and 4 white (a) 19] “»
balls. A man 'Hclcclu two balls at () 16)
random. What is the probability that
both of these are of the same colour ? -
(d) 121
(a) 6 5. If two random variables X and Y are
connected by relation
5 2X-3Y
V) s —_—=4 follows Binomial
108 Sreay | aAl

distribution with parameters n = 10 and

(c) 9 | . 2
P= 2 then what is the variance of Y7
W 10
18 A 8
@ 36
2.1f a random variable (x) follows b 9
binomial distribution with mean 5 ) 19
and variance 4, and 5% P(X ~ 3) = 14", >
then what is the value of 2.7 (c) .13
361
(a) 3 ”
(b) 5 de/%é—]
3
2 6. If a, b, ¢ arc in HP, then what is
(d) 25 | ]
4+—— equal to ?
: b-a b-c
3. From data (-4, 1), (-1,2), (2,7) and
(3, 1), the regression linc of y on x is 2
obtained as y = a + bx, then what is the L. 5

value of 2a + 15h 7

2 l+l
-m/c N "o

(b) 11 ; (1 it

2 e o
(c) 17 oD
(d) 21 Select the correct answer using the
code given below :

4. Let x+2p+1=0and 2x+3y+4=0 (a) 1 only

are two lines of regression computed b) 2 onl

from some bivariate data. If O is the (b) Zonly

acute angle between themn, then what is (c) 3 only

the value of 488tan30 7 ; (d) 1,2 and 3
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7. 0% @@ d@ AR SR a6l F 150, 10.q-avﬁ15u=qvfmaﬁﬁi1#ﬁfm

200, 250, 300 &C Hf e F 2F ® e, Ao w ﬁ\f’ m?ﬁml
foeha 2 | A 0 TR auf 7 0 o ifieen # fo et @ @ AAA
gf@aR ¥ wfEd Th @ e e T el e & aaad o7
R GE &Y, 9 H A Ao sfea g ]
wqET A () TR ? @ o
(a) 210
(b) 220 o ek
(c) 230 (b) 755
(d) 240
|
8. afe =g “TIRUPATI” & 9uif (3eri) © o
I agfoed &9 § forar smu, @ @@
wfisar @ f& gt T BHYT AR (d) i
T ? 455
@ 3 s s @) T % f
1 ﬁmﬁ%am%aﬂaﬂﬁm:
® A AT 4 3% B 31 HeATd 2@ YER @ fh
1 P(AUB) = 0-75 31X 0-125 < P(ANB) < 0-375
7 21
1
ST 11. P(A) + P(B) &1 AqH A 947 & 7
9. 7 AT m=77" B | OTE n Kl (@) 0625
agfoes w1 ¥ g7 QidE A e (b) 0-750
STrar © | 1 wifdehar & fFom &\ A B\
THE & H W | AT ?
1 (d) 0-875
@ 7
| 12. P(A) + P(B) 1 #frarm w1 = & 7
® 3 @@ 075
J b) 1-125
(c) 1-375
1
@ 7 (d) 1-625
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L

ible oil is .
7. An edib SOld at the rates 150, 10. Three different numbers are selected at

200, 250: 300 rupecs per litre in four random from the first 15 natural
consecutive years, Assuming that an numbers, What is the probability that
equal zun@m} of money g spent on oil the prod.uc( of two of the numbers is
by a family 1n every yeqr during these equal to third number ?

years, what 15 the aye age price of oil

in rupees (APPrOXimately) per Jifre 9 |
(@ 210 (a) T
(b) 220
2
) 230 b 2
% ®) 455
(d) 240
. l
8. If the letters of the word “TIRUPATY” () =

are written down at random, thep what
is the probability that both Ts are

; O
always consecutive ? bl —
oy s 455
1 ' o
a) - 4= 2" :
@ 2 ,_7‘ Son )/{,Conmdcr the following for the next two (02)
I items that follow :
®)
Let 4 and B be two events such that
| P(AUB) = 0-75 and 0125 < P(ANB) < 0-375.
g Py 1
I1. What is the minimum value of
L P(A) + P(B) ?
(d) I “)+ K ‘
@//9«(25
9 Lct./.n =.77". The index » 1s given a (b) 0-750
positive mtegral value at random. What
is the probability that the value of m (¢) 0-825

will have 1 in the units place ?
(d) 0-875

(a) 51 12. What is _the -maximum—value of
: P(A) +P(B) ?

® 3 &7
1 (b) 1-125

© 4 (c) 1375

@ '_1’ d) 1-625
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IR sm oA A (02) R F fau
forafafs w fomm Hif

4, B ¥R ¢ &9 W W waw §
P(4) = 0-6, P(B) = 0-4, P(C) = 0-5, P(4UB) =
0-8, P(ANC) = 03 AR P(ANBNC) =02 &R
P(AUBUC) = 0-85.

13. P(BNC) 1 AaH A1F F1 & ?
(@ 01
() 02
©) 035
d) 045

14. P(BNC) &1 sfteras A =41 @ 7
() 01
(b) 02
(c) 0-35
(d) 045

I FW G [ (02) v & o
frfafes = feer $ifs

T FAfEa T 1 p IR S8 9 ¢ |
Y T OTE o FM Wl p R
R FH A FH o A AW A WA ¢ ®

aﬁzp-q=§55%|
15. n & 9 1 € ?
(a) 4
(b) 5
() 6
(d 7
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16. p+q & HH 47 § ?
Ez
32

53
(b) E%)

51
(c) D)

@) 1

(a)

a a A @ (o) wenw & f
frforfaa ) ffer 6ifsg:

X;

Il 1 | 270 £

17. Y./} e st 2 7

haldoVie (.. | 7
. |2l

e T

(a) 2n—l

2H+| = 2
(b) 2/1—1

2" 42
2!1—1
2n+] el

2’1

(c)

(d)

18. sied &1 Hieg 41 § ?
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Consider the folloWing for the next two (02)
items that follow :

A, B and C € three events such that
P(A) = 0:6, P(B) = 04, P(C) = 0:5, P(4UB) =
0-8, P(ANC) =03 and P(ANBNC) = 02 and
P(AUBUC) Z 085

13. What is the minimum value of
P(BNC)?
(a) 01
(b) 02
0-35
(d) 045

14. What is the maximum value of
P(BNC)?

Ly 61
(b) 02
(c) 035
(d) 0-45
Consider the following for the next two (02)
items that follow :

An unbiased coin is tossed n times. The
probability of getting at least one tail is p
and the probability of at least two tails

16. What is the value of p+¢ ?

i
32

53
32

51
(c) o

(d) 1

(a)

(b)

Consider the following for the next two (02)
items that follow :

X; 1 2 3 n

W "I o e

i

17. What is 271,. f; equal to?
2" —n+2
2!1“‘

2ll+l S 2
2’1"1
2n+1

(a)

(b)

+n+2

(C) 2n-l

2n+l_n__2

(d) Y

18. What is the mean of the distribution ?

. 4 @ 27 _nst 9
isgandp-g=—. & n
12 2" -1
2
_ 2"l —n-2
15. What is the value of n ? ) —r
2"—
(a) 4 (_7 2n+l 2
—
(C) 6 i g L= n+l _
el = g ol
@ 7 S LY ’
0 = "‘7’5"7 C — RRAN-B-MTH



AR g AW @ (02) W F fou
frafafan w fer fifg

wiferdh) € when # 10 S GR1 e fFu
T 3 24, 47, 18, 32, 19, 15, 21, 35, 50 3%
41 % |

19. 9a9 =S U WGV & A1 o= @
??
(a) 4-8
(b) 55
(c) 6
d 75
20. G99 92 9 VLU H OTERT FT @ ?
(a) 146
(b) 21-8
(c) 252
d) 46-8
WM HH A q(02) Wt & fag
frafafas = faar it
U a1 Hod f(x) 1 GG Al
AA x=0W ¥ |
A T y = 2f(x) +ax— b # |
21. Frafafeaa & @ s9-wi/aF-2 @&
/%7
1. f(0)=0
2. f(0) < 0
A o M e @ v R EE o
gfi
(a) *ae 1
(b) Fae 2
(c) 1R 2 et
(d JFa1,A82
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22, Prafafes # & fgs forg Fed ¥ 7
x=OW$ﬁfWWm%?

(@ a>0,b=0

(b) | b IR a=0 & foIT

(c) Faa & b > 0% foC

) ®ft a3k p=0F fC
I T AW d (02) wend F T
frfefea w faer $ifso .

A WA fx) =[x — 1], g(x) = [x] IR
h(x) = f(x)g(x) Tt [] sfream quiie Bed
21

23. fllz(x)dx fras axeR © 7

24, J'Ozh(x)dx fres weR 2 2

@<
(b) -1
(c) 0

N | —

(d)



ol

Consider the following for the next two (02)
items that follow :

The marks obtained by ¢ students in a
Statistics test ar¢ 24, 47, 18, 33 19 s 21,
35, 50 and 41.

19. What is the mean deviation of the
largest five observationg 9

(a) 48
(b) 55
() 6
@ 73
20. What is the variance of the largest five
observations ?
(a) 14-6
(b) 21-8
(c) 252
(d) 468
Consider the following for the next two (02)
items that follow :
A differentiable function f(x) has a local
maximum at x = 0. Let y = 2f(x) + ax -b.
21. Which of the following is/are correct ?
L. f(0)=0
2. f"0)<0

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

22. The function y has a relative maxima
at x = 0 for

@ a>0,b=0
(b) for all b and a=0
(¢) for all b > 0 only

(d) for all @ and b=0

Consider the following for the next two (02)
items that follow :

Let f(x)=|x-1|, g(x) = [x] and
h(x)= f(x)g(x) where [.] is greatest integer
function.

23. What is [ 01 h(x)dx equal to ?

(oS
(b) -1
(© 0
1
93
24. What is f;h(x)dx equal to ?
A
B3

() -1

() 0

N | —

(d)

C — RRAN-B-MTH




In-2

AW @ (02) WEE & fg ©
Frafirfir o frar S g
dx 3 r+2
mv’)ﬁm‘[ml_‘/:]w(xu)? @ —
Px-1)2 +c¢ 204, + Ay)
25. o & HE {1 § ? 28. AIL3AZZWWW%?
® 3 s
: (b) 1
® 3 ) g
(C) 1 (d) -7
(d)% gi am @@ @t (02) wemwi & ferg
frafafas w fr Ao :
26. p < A F R ? 1N
> ms’r‘r&q3f(x)+f(;)=;+l
(@ =
: 29. f(x) foreres =rax ® 7
(b) =
Al x X
oL @ %82
3 3 X 3
@ 2 © a8
) b eatH
AW HH A @ (02) W TNl & feu 8x 8 4

Fre=feafaa w famr Hifta : 3 x

T2+ 2 2x = O, YT y = GRT A G Q8’7
# famfoa frn mn ® | 7 #ifig 4, 4, 5
A 9 3R g @St ¥ g ¢ | 30. 8f f(x)ax Fres i 2 7
27. A, ¥ AR w1 7 (@) In8Ve)
@ "T‘z (b) In(4Ve)
T+2 (c) In2
L A m2-1
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Consider the following £, the next two (02)

items that follow : (c) =2
dx 3 4
Let jﬁ'j‘“ U= “eths
3 @) 3r+2
Bx-12 +¢ 4

25. What is the value of ¢ 9 24, +4) ,

28. What is the value of

{ A, -34,
(a) 3 (@) =
2 (b) 1
B3 () -1
© 1 @ -z
4 :
@ = Consider the following for the next two (02)

items that follow :

26. What is the value of f3 9 1 1
Let Bf(X)'*—f(;J:;Jrl

2

a ——

(a) 3

29. What is f(x) equal to ?

)
3 | QR
1 Sz, 2/ 4

© -
3 3 x . 3
___+._
> ®) 8 8 4
@3 2
© 8x 8 4

Consider the following for the next two (02)
items that follow : @ R
The circle x2+)?— 2x =0 is partitioned by
line y=x in two segments. Let A4, A, be
the areas of major and minor segments
respectively.

. 2
30. What is 8 fl f(x)dx equal to ?

(@) H{3e)

(b) In[4-e)

27. What is the value of 4,7

-2
@ ——
(c) In2
) T+2
11 C — RRAN-B-MTH




TR IR T @ (02) v ¥ f ST F R Yy @@ R

W R i : (@) 399 1 3K 2
ﬁww%%F osx+d4siny (®) w2 k3
2cosx+Ssinx (©) Fa9 1 3Kk 3
ax B ol K 3
T)+%1n[-cosx+:smx|+v @ 128K

34, Pl st w faeR AR :

3. a & HE TR ?

e}
@ 7 :d (t)_t’
®) 13 2 ) x =e | WHEI gaad ||
WH &7 §
() 17 3. () W T < W9 e R
@ 26 g v A R -8 w9 R 7
o N ) a9 1 dk 2
2.8V W R ?
(b) F59 2 R 3
@@ 7 (©) 3|9 | &K
®) 13 (@ 1,28K3
() 17 I W I R (02) FERT ¥ g
@ i Frafafes w sk $f
HH SN T W fx) IR g(x) TW ISR
IR FyH T = (02) Ty & ﬁVTQ = «*(ﬂ:\'—— CIre fog(x)=x" _i.
fr=fofes w faxr fifvc xS
. 35. /1) - 3] 8% ==} R 2
HH ST f(x) = —; (x>1) 1
Inx (@) e i
.l'3
33. Fafofes s9At w faar $ifsg . ® el
x™
1. f(x) HAH (e, ) F THAH 2
€ x"——
2. fx) A (1, o) ¥ gEEE x*
3. 9in7 > 7in9 (d) .\<3+\_l2
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Consider the following for the next two (02)
items that follow :

3cosx+4sinx

Given that Imdx =

gx—+£1”|2003x+55inx|+c
29 29
31. What is the value of ¢ ?
7
(b) 13

(c) 17

i

32. What is the value of 8?2
(@ 7
(b) 13
(c) 17

o« 26

Consider the following for the next two (02)
items that follow :

Let f(x)=ﬁ; (x>1)

33. Consider the following statements :

1. f(x) is increasing in the interval
(e, )

2. f(x) is decreasing in the interval

(1, €
3. 9in7 > 7In9

13

Which of the statements given above
are correct ?

(@) 1 and 2 only
(b) 2 and 3 only
(©) 1 and 3 only
(d) 1,2 and 3

34. Consider the following statements :

L f"(e)==

2. f(x) attains local minimum value
atx=e

3. A local minimum value of f(x)
is e
Which of the statements given above
are correct ?

(@)
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3

1 and 2 only

Consider the following for the next two (02)
items that follow :

Let f(x) and g(x) be two functions such that
_ 1 W |
g(x)=x-~ and fog(x)=x"-—.
35. What is g[ f(x) — 3x] equal to ?

1
3
a) x’——
® *-—
1
3
(b) )C+—3
X
1
2
C) Xi=r=
(©) 2

@ 2+
24

C — RRAN-B-MTH



36. /"(x) Toreen SRR © 7 © %
_2
(a) 2 @ =
2 .
©) 22t 3 T oam A @ (o) weandt &
() 6x+3 Fremferfie ¢ e <o
@i e e ga)= [ Jsinxlde
W oEH AW @ (02) weN F fom
frmffes w feR Hifim : 39. p(a) ferich =R ® 7
HE ®IT f(x)=|x|+1 3R gx)=[x]-1, (@ 0
el [] afteas Qi FeF ® | (b) a
B =D (c) 100a
g(x) (d) 200
= HIAT ;
Skt Y 40. ¢'(a) foraes s & ?
1. f(x) @1 x < 0 % forq sraeeria @ @ 0
2. g(x), x=0-0001 | Faad & ® =
3. g(x) HT x=2-5 W Haeherst 1 & () 100
ST FEl # ¥ AR @ 2 2%
(2) F 1 3R 2 4.7 STy () R yo(x) st
Fad 2 AR ay '
®) 2 3k 3 THYEOT é:x & q e T gk
(c) A 131 3 MO=0 3R y)(0)=4, |t = 5,x)
@ 1,23K3 AR yy(x) F wierede figait & o
ferat § 2 b 5
38. lim A(x i
x—0- ( )+xl—l>rg+h(X)mm% i (@ Eﬁg ﬁ@ qﬁ
@ -2 (®) T fig
i () = fig
2 @ 2 fogsht ¥ siftrs
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6. What 18 /"(Y) equal g 9
2

() 'l‘f.'\'

2

(b) 2x+ ‘\

(¢) Ox +3
(d) O

Consider the following for the next two (02)
items that follow :

Let fiv) = x| + T and g(x) = [x] - 1, wheie |[]
is the greatest integer function,
Let h(x) = [x)
g(x)

37. Consider the following statements

1. flx) 1s differentiable for all x <0

(c)

(d)

Consider the following for the next two (02)
items that follow

av100n
Let g(a) I |sin x|dx

39. What is @(u) equal to ?

(a) 0

\n)) ”'

(¢) 100a

() 200

40. What 1s @'(a) equal to 7

2. g(x) 1s continuous at x -~ 00001

3. The derivative of g(x) at-x= 25 ) 0
s 1 (b) n
hich of l.h(. statements given above ©) 100
are correct ?
)
(@) 1 and 2 only (o). 2t
(b) 2 and 3 only ,
41. Let yy(x) and y,(x) be two solutions of
(¢) 1 and 3 only o 4 i .
the differential equation —=+ x. If
(d) I,2and 3 dx

38. What is lim A(x)+ lim A(x) equal
=30~ v+
to?
3
(a) =3
1
(b) >

y(0)=0 and y,(0) = 4, then what is the
number of points of intersection of the
curves y,(x) and y,(x) ?

(a) No pomnt

(b) One pomnt

(¢} Two points

(d) More than two points

C — RRAN-B-MTH




42. TF y = ¢*(a cosx + b sinx) WEl 4 5 p 45, saae wHwo

Aw aw § # Pefm w0 9 dyzmd’ 2,
y -
sawe wiiem @ 2-(;] o & W
. dy s wma = §

(.) ?*2)’:0

= () T

dy dv N
(b) —‘;-2—+ZE+2)'-0 (b) 2,3

2 Blas, 2
(c) %-2%-&2)':0

(d) 2,5

2

@ -1—';-+y=0 ly I
46.“& Eb-_ 2(!'},-’, y(()).-i al
43. 7% flx)=ax - b M ()= cx + I ¥ ay%(2 - ¢*) Foa agae ® 7

e ¥ & f(e) <g(rv) @ 7
frafafaa & & Sa-ar w1 2 2
(@ f(d) = g(b) RN
(b) f(b) + g(d)=0 (c) 3
(¢) fla) + glc)=2a (d) 4

(d) f(d) + g(b)=2d

i = 47. % b p :fbf(,)d, R Ic
44, [ (3sinx~sin3x)cos’xdx formara a

b
LC i q:LV(-‘)I¢‘3 | 7 flx) = e, 7t
1 foafafaa & 4 @ v p o

(a) =%
(b) 0 (ﬂ) P= 2‘]

b .
© % ®d) p= g

(c) p=q

1

@ 4 (d) p=gq
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ifferenti :
- ;h:cdufc A =l:1(:qc“a“°“~ representing 45. What are the order and degree respec-
i Osx + b sinx) where tively of the differential equation

a and b are arbitr constants, 1s

2. 2196 2
(a) jd_.;‘-+2\‘:0 2- d_y =‘d—z ?
dr2 ' dx 2
A’y  dy
U0 e
dZ), d) (b) 2,3
B
(c) 5,2

@ +y=0
dx’ (d) 2,5

43. Iff(X):'aX‘b and g(x)::cx.f_d are d
such that /(g(x)) = g(/(®), then which 4616 2.=26%)2, (0)=7- then what is
one of the following holds ? Zdt 2
y 4y4(2 —¢*) equal to ?

(@) f(d)=gld)

(a) 1
(®) f(6) +g(d)=0
(b) 2
T + glc) = 24
(c) 3
(d) f(d) + g(b)=2d
(@ 4

1
44. What is [ (3sinx - sin3x)cos’xdx ; "
47. Let p=| S and g = [ )
a a

equal to ?
i If f(x)=e¢*, then which one of the
(a) % following is correct ?
(b) 0 (@ p=29
1 (b) p=-4
© 5
(c) 4p=¢
1
d) —
@ 3 (d) p=¢q
17 C — RRAN-B-MTH







T
g :
48. What is I £r00X N equal
0 2a+sinx+cosx
to ?
n
@ 7
(i
® 3
(c) 1
(d) 0

49. The non-negative values of & for
3

which the function % — 4bx* + x has

neither maximum nor minimum in the
range x > 0 is

@ li<b<1

b) 1<b<2
(c) b>2
(d 0=sb<1
50. Which one of the following is correct

and

in respect of f(x) = P
X|—X

?

g(x)=

1
1]

(a) f(x) has some domain and g(x) has
no domain

(b) f(x) has no domain and g(x) has
some domain

¢) f(x) and g(x) have the same
domain

(d) f(x) and g(x) do not have any
domain

19

51. If two sides of a square lie on the lines
2% +y—3= 0 and 4x + 2y + 5 =0, then
what is the area of the square in square
units ?

(@) 605
by 615
(©) 625
(d) 635

52. ABC is a triangle with A(3,5). The
mid-points of sides AB, AC are at
(-1,2), (6,4) respectively. What are
the coordinates of centroid of the
triangle 4ABC ?

o (35

53)
@ (=3
o (37

53. ABC is an acute angled isosceles
triangle. Two equal sides AB and AC
lie on the lines 7x—y—-3=0 and
x+y=5=0.If 0 is one of the equal
angles, then what is cot6 equal to ?

(b)

(a)

0 | =

(b)

(©)
(d)

N Wi N~
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54.

In the parabola =8y the focal
distance of a po-{m—fying on it is
8 units. Which of the following state-
ments is/are correct ?

1. The coordinates of P can be

(6, 443).

2. The perpendicular distance of P
from the directrix of parabola is
8 units.

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

\.Meither 1 nor 2

55. What is the eccentricity of the ellipse if

56.

the angle between the straight lines
joining the foci to an extremity of the
minor axis is 90° ?

(@)

W | —

N | =

(b)

()

A A =2 A A
=i-j+k and b=7i+2j-k. If
)=af—ﬁf+y1/2, then what
is the value of a+ B+7y ?

21

L

(b) 7
(c) 6

(d) 1

57. If a vector of magnitude 2 units makes
an angle Z;— with 21, % with 3]' and an

acute angle 0 with 41,6, then what are

the components of the vector ?
(@) (1,+2,1)

b) (1, =~/2, 1)

©)-, -2, -1)

) (1,42, =1)

58. Consider the following in respect of
moment of a force :

1. The moment of force about a
point is independent of point of
application of force.

2 e moment of a force about a
ine is a vector quantity.
Which of the statements given above
is/are correct ?
(a) 1 only
(b) 2 only

(c) Both 1 and 2

.(.da/ﬁher 1 nor 2
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59. freht wfew 7 ¥ g, 62.3f% (1, -1, 2) sk (2, 1, -1 M

(FDEXD+F DD+ kNP x by 24y + 24 ux + 2y + 2wz = 1=0
foreds a2 7 & AW & g fig § M utviw
foree awrer @ 2
(a) 6
(a) -2
® 7
. (b) -1
(c) 2r
- (c) 1
(d) 3r
(d) 2
60. W= +ifSrg 4 aRammr & @ wfey 7 sk
= T — )" o=
bmngm%,ﬁax?ﬁ'(a—h 63.xy-mﬁﬂﬁﬂﬁmx=5mﬁ5ﬁa
& 9 R ow R 2 fargatt & wen 2
(a) g (a) YA
(b) TH
® 5
() @
£
© % (d) ST 3T
4
(d) g 64.nﬁmlr—3y+6z+4=0q'(
st (ler) 3 fosp-areree
61. af¢ g9 x2 + )2 + 2x + 6y + 1 = 0 1 T, Shomon>%, A2 + m — p2) a
(a, b)® 3R B=an ¢ B, a1 a2+ b2 + 2 A R 7
& HH T 7
(a) 0
(a) 19
(b) 1
(b) 18
© 17 (¢) 3
(d) 11 (d) 71
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59. For any vector 7 | what is
FDEXDFF XY+ B> %)
equal to ?

(c) 2

@ 37

60. Let 2 and —I;) are two vectors of

magnitude 4 inclined at an angle %,
then what is the angle between

- - 7
a and a—b ?

T
@ 7
NI
L5
© 3
1
v(d{/ %

61. If (a, b) is the centre and c is the radius
of the circle x*+ )2 +2x+ 6y +1=0,
then what is the value of @+ b% + ¢??
(a) 19
(b) 18
(c) 17

(d) 11

23

62.

63.

64.

If (1, -1, 2) and (2, 1, -1) ar® the end
points of a diameter of a sphere
X2+ 2 4 72+ 2ux + 2y + 2wz — 1 =0,
then what is u + v+ w equal t0 ?

(@) -2
(b) -1
© 1

d) 2

The number of points represented by
the equation x =5 on the xy-plane is

(a) Zero
(b) One
(c) Two

(d) Infinitely many

If < I, m, n > are the direction cosines of
anormal to the plane
2x-3y+6z+4=0,

then what is the value of

49(712 + m* —n*)?

(a) O
(b) 1
(c) 3

(d) 71
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65. (1, -1, 2) ¥ v € @ W1 ey 68. 7R T T @I, x + 2y - | .
=T T3

feg-gqa <3, 2 2> ¥ Ww a-y-1=0%EE &
re 23z = 18 PR 2 1 X1 ok 3 e T § o s I
T w7 Aaﬁswﬁmﬁg,a‘uﬁa‘mﬁi
T @YY TR ?
(a .41
(@ 3x+y= 10y
® 2.4, 1)
(®) x+3y=10xy
9 .59 () 3x+y=10
@ G.47 @ x+3y=10
66. 2% (1,0,0), 0, 1,0) R (0,0, PF 9. 75 (=sinf. cosb) ¥ B o AR
Wﬁmﬁ’ﬁ'ﬁg (origin to SﬁT}@Txc050+ysin9=9q(éam
meplme)ﬁﬂa@p%.aszm a1 &1 geteRT T ' 7
R ?
(a) xsin@ ~ ycoSBh»" A= 0
@ 4 (b) xsinf —ycosf + 1= 0
(®) 3 (c) xsin@ — ycosé =0
(© 2 (d) xcosf —ysin® + 1 = 0
@ 1 7o.€rﬁ§PaﬁtQ%@1y=zx+3qt1?ua
x 2 2| ¥ ot fig p ¥k 0 TRt 3=
o > e ST MY
+2m+n=0, 2/-2m3n 5 Pk o fagdt & Fsw
SR, AP+t A T L - AR
2 4 2 4
(@ [1+—,5 -—),(1__, -
® o &5tk )
101
2 L[ 2
(b) (3-‘-—1 5 ——),(—1—— -—i
(b) 2 V5 +‘/§ \/g . 5
101
2 4 )
41 () (1—— 5+—),[1 2 s 4
@) = 5T
92 @ (3_i 5+1M_1 L
@ Tor NGRS W SJ
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65. A line through (1, -1, 2) with direction
ratios < 3’ 2’ 2> meets the plane
x+2y+3z = 18. What is the point of
intersection of line and plane ?

(a) (4,4, 1)
b)) 41
() 4, 1,4
d 3,47
66. If p is the perpendicular distance from
origin to the plane passing through

(17 0: O)a (0, 1, 0) and (0, 0, l), then
what is 3p? equal to ?

N
() 3
(© 2
d 1

67. If the direction cosines </, m, n>of a

line are connected by relation
1+2m+n=0, 21 —2m+3n=0, then
what is the value of /2 + m? — n*?

(@

29

(b) o1

41
(©) 101
92

@ To1

68. If a variable line passes through the
point of intersection of the lines
x+2y—1=0and2x—y—1=0
and meets the coordinate axes n
A and B, then what is the locus of

the mid-point of AB ?
(@) 3x+y=10xy
(b) x + 3y =10xy
() 3x+y=10
(d) x+3y=10
69. What is the equation to the straight
line passing through the point
(~sin®, cos@) and perpendicular to the
line xcosf + ysinf = 9?2

(a) xsin@ — ycosf — 1 =0 A
(b) xsinf — ycos@ +1 =10 \
xSin9 -_ yCose = O

(d) xcosB — ysinf +1=10

70. Two points P and QO lie on line
y=2x+ 3. These two points P and QO
are at a distance 2 units from another
point R(1, 5). What are the coordinates
of the points P and O ?

25




7L ABC vs P @ vaR R f& @ > m-l(g)_m-n(g—_b_) fpad auEt
. wamA*MBMW ’ b a+b

wS(A B) 22
2 n
R 7 (a) o
(a) 2 n
(b) 7
() 2
(© 1 (c) tan” ( _b&J
a +h
1
(d) - 2ab
2 i
) A (\ + by

72. \115+col2(%—2001_'3}‘ Fa% Tt 5. frfifae 3§ 3 fe oitferfy & safa,

FHtETm
L (cosB—1)x* + (cosfB)asinf = 0#
(a) 1 « &1 fef0, 7] & fw @ awafad g7
a ?
() 7
(@) .| —cosf <40
(c) 8
(b) Y7 cosp =0
16
i () 1 -cosp >0
73. sin10°-sin50° + sinS0°-sin2S0° + (d) 1-cosff =0

sin250°-sin10° &1 7 famd R
76. 598 ABCH, AB = 16 cm, BC =63 cm

@ Xl MTAC-65cm? |

4 cos 24 +c08 2B + cos 2C & HE =41

s‘g 2

. <

(b) 3 (@) -1
3sin10° ®) 0
(c)
4 (c) 1

3cos10° 76
d) ~ (d) —
(d) 2 65
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71. ABC is 2 triangle such that angle a fa-b
74. What is tan"(—)—tan ——-—_;—I;
C = 60° then what is cos A+cosB ”
cos( A-B ) equal to ?
7)
equal to ? o T
(a) '
(a) 2
T
(b) T
®) 2
2 2
-b
oyt (c) tan [ 2
X (az+ b?
o .
'\/—2' d tan—l( d )
e a’+ b

75. Under which one of the following
What is |15+ cot? T o conditions does the equatlgn
72 at 1s \/ cot (4 2cot 3) (cosﬂ—1)x2+(cosﬁ)x+smﬁ=0
in x have a real root for f€[0, 7] ?

equal to ?

(@ 1 (a) 1—cosp <0
®) 7 (b)-l—cosﬁ <0
(c) 8

u(d')/16 (c) 1—-cosp >0

73. What is the value of sinl10°-sin50° + (d) 1-cosp =0

sin50°-sin250° + sin250°-sin10° equal

?
ks 76. In a triangle ABC, AB = 16 cm, BC =
1 63 cm and AC = 65 cm. What is the
(a) = value of cos 24 + cos 2B + cos 2C ?
3 (a) -1
) 4
0
3sin10°
c
(©) 4 () 1
3cosl0° 76
d) — d —
(d) 2 (d) -
27 C — RRAN-B-MTH




e ol & & F-ar/FAR T

71.3fe f(6)= I 3k a+ﬁ=5£,
4

1+tan@ % -g?
A f(a) f(B) & A R ? /
: (a) Fad 1
@ - (b) & 2
®) L () 1323
2
@) 1 (@ A 1LAE2
g 1)" 5
- 6x+8=0F T A mnFT AT TR ?
cos(2a +2p) T HE FT & 7 (@) 3
13
%
C
13
®) & @ 12
(©) & 2.9 4. pbAR c(a>0,c>0) GPH %,
= _ S 2 + b Il T
@ ;_i frfifar = fer AR ;
1 R % T E |
79. tan 65° + 2tan 45° — 2tan 40° — tan 25° .
& HH F91 e 7 2~ma‘iﬂ@wa§m1;w%
@ 0 & o T H TH T T
(b) 1 .
) 2 3.arﬁw%1;ﬁ—qu(£2_)
e = 2 X
80, Frmfirfaa @t € foe i : Y.
. w Pt ABC H, e o H W - w2
cotd-cotB-cotC > 0, ar ﬁr‘ﬁﬁ T (a) Fa1 1 3R 2
~AHINT ﬁ"ﬁﬁ%;& (b) et 2 3K 3
2. w& Tasst ABC H,
tand-tanB-tanC >0, @ Pt @& (c) w133
sftrs g s ® | (d 1,23R3
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1
77. Iff(G)" 1% tand and a+,6=-4—,
{hen what is the value of f(a) f(B)?

e

1

(® 2
(c) 1
/()

78. If tano. and tanf are the roots of the
equation x2— 6x+8=0, then what is
the value of cos(2a +2p)?

o

13
75
13
85

(@)

(b)
17
85
19
85

©)

(d)

79. What is the value of
tan 65° + 2tan 45° — 2tan 40° —tan 25° ?

(@ 0
(b) 1

7
d) 4

80. Consider the following statements :

1. In a triangle ABC, if
cotd-cotB-cotC > 0, then the tri-
angle is an acute angled triangle.

2. In a triangle 4ABC, if
tand-tanB-tanC > 0, then the tri-
angle is an obtuse angled triangle.

29

Which of the statements given above

is/are correct ?
(a) 1 only
(b) 2 only

‘v(C')/Both 1 and 2

(d) Neither 1 nor 2

81. If the 4th term in the expansion of

n
(mx+l] is §- then what is the value
x 2

of mn ?
(@ -3
b3
(c) 6
(d 12
82.Ifa,bandc(a>0, ¢ > 0) are in GP,

then consider the following in respect
of the equation al+bx+c=0:

1. The equation has imaginary roots.

“The ratio of the roots of the
equation is 1: @ where @ 1is a
cube root of unity.

2

 The product of roots of the

B2
equation is | — |-
a

Which of the statements given above
are correct ?

W N

(a) 1 and 2 only

(b) 2 and 3 only
1 and 3 only

(d) 1,2 and3
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e

g3. If X*+mMX*n is an integer for all

integral values of x, then which of the
following 18/are correct ?

1. m must be an integer
2. n must be an integer

Select the correct answer using the
code given below : ‘

(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
84. In a binomial expansion of

(X A% y)2n+l(x _y)2n+l 1
the sum of middle terms is zero. What

X xz
1s the value of = ?
H

(a) 1
(b) 2
(c) 4
(d) 8
85.Let 4 = {1,2,3,4,5} and B = {6, 7}.
What is the number of onto functions
from 4 to B?
(a) 10
(b) 20

(c) 30

(d) 32

86. What i Y30510°=SIN10" o0 149
sin25°cos25°

T

(b) 3
(c) 2

d) 4

87. What is (sin 9° - cos 9°) equal to ?

@ 5-+5
2

©) = 5-3
2

=

(d

5-+/5
4

88. If in a triangle ABC, sin4 + sin®B +
sin’C = 3sinA sinB sinC, then what is

a b c
the value of the determinant (b ¢ al;

e” amb

where a, b, ¢ are sides of the triangle ?
(@ a+b+c
(b) ab+bc+ca
ey Ta+b)b+e)c+a) .

(d 0
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89, s cosly = sinls, A1 FrEAfAET ¥ 3 fr 0 | W v W T I

- w7 3fe :
(@) x=1 (2) 94 1
1
(®) R=— (b) 9 2
B =L () 13R23A
\ @ T LAR2
(d) .rz%
R 93. 7 i R fogw e (-1, 1) REP
90. (sinf — cosB)? = 2 & T F T@l de¥ & #R R={(x,»): |x+|<2}
oot 8, SRl -n<0<7 7 o B o £ o freafafed #
(@ = & FH-81 TEl & °
®) o7 (a) R, &= 2 | 7 & FHHE, T
(© =% TEEF T
(d) &% T @I (b) R, &TF 3K TAMHa © R TS
T T
91. Wiafee 1, 2, 3, 4 =1 AR &K TS
e ¥ 4 vRiedt = B fim (©) R EIT AR HHES § W wAfa
Fegg SAQ ST TG ¢ (ARG T =
FEa ©) ? .
Sy (d) RTF TIaT a9 2
(a) 72
() 216 o4, el 5t d R w=t 4 B, C
(©) 254 ¥ fro
(d) 768 AUB)~{d-B)U(B-A)U(4n By
TR ¢ ?
92.Wﬂel'ﬁ1'QA={xeR:—l<x<l}%|
firefafen 3 wm-a1 /23 43 = @ T wg==
R FH =Bl b4 ¢ /% ? ®) 4
1. f(x) = xlx| ) B
2. g(x) =cos(xx) d @u B) - AN B)
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g9, If cos'* = Sin"!x, then which one of
the followlng is correct ?

(a) x=1

90. What is the number of solutions of
(sinf — cosf)? = 2 where —r <0< 7 ?

(a) Only one
(b) Only two
(c) Four

(d) No solution

91. What is the number of different
matrices, each having 4 entries that can
be formed using 1, 2, 3, 4 (repetition is
allowed) ?

(@) 72
(b) 216
(c)_254
(d) 768
92. Let 4 = {x € R: —1<x<1}. Which of

the following is/are bijective functions
from 4 to itself ?

L f(x) = x|x|

2. g(x) = cos(mx)

33

93.

94.

Select the correct answer using the

code given below :
(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Let R be a relation on the open interval
(<1, 1) and is given by ( /)
Rz{(x, y): ]x+yl<2}. Then which
one of the following is correct ?

(a) R is reflexive but neither sym-
metric nor transitive

M is reflexive and syminetric but
not transitive

(c) R is reflexive and transitive but
not symmetric

(d) R is an equivalence relation

For any three non-empty sets 4, B, C,
what is

(AUB) - {(A-B)U(B-AHU(NB)
equal to ?

(ayNull set

() 4

() B

(d (AUB -4 NB
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95'qﬁﬁE3ABCﬁ§WQ'a,b,c‘€’,a} 08. x =y > 1 & fog, w1 +fifsiC

a®  bsind csin4 1og,(5j Hog‘.{;} _ g @ kW A
bsin A 1 cos A ' 'ﬁ_‘rv 3,
csinA cosA 1 Waflaxmﬁﬂﬁﬁgaﬁ” ;

%H%;W%? () -1
(a) =
1
) Praw =1 e ®) =5
(c) frgw = ey @ 0
d) @+ +3
@ 1
96. 4t a, b, c, APH €; b, c, d, GP & %:
c,d,e,P{Pﬁ%,?ﬁﬁ?ﬁ'ﬁiﬁﬁ% % Y
HIF-91 /H-84 T8 /% ? |sin26 2sin’6-1 0
99.3f A=|cos26 2sinBcos 0],
l. a,c ¥R ¢, GPH & L 0 o )
g, L L gpie frefafes § @ SH-a1/3H-8 S99
a C € 'ﬂé%/?’
9 fSu U g @ W@ R EE SW
ﬁﬁ'Q: 1. A = adjd
(2) e 1 2. A Torem wwfie smegg @
(b) Fad 2
- 3. A 1=47
(c) 13 2gMt
(@ I 1,AE2 j;qﬁnmizwmmgaw
97. logs(x — 1) = log,(x — 3) & &l el el :
fraft & 7 (@) %aer 1
(a TF ®) 13%2
(b) TS
(c) a1 (©) 133
(d) o @ 23k3
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95, If a, b, ¢ are the sides of triangle ABC,
then what 1s

a* bsin4 csin A
bsin A 1 cos A | equal to?
csind cosA 1
(a) Zero

(b) Area of triangle

(c) Perimeter of triangle

9}/‘12+b2+c2

96. If a, b, ¢ are in AP; b, ¢, d are in GP;
¢, d, e are in HP, then which of the
following is/are correct ?

1. a, ¢ and e are in GP

l are in GP

ael L
a C e

Select the correct answer using the
code given below :
(a) 1 only
() 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
97. What is the number of solutions of
logy(x — 1) = logy(x—3) ?
(a) Zero
(b) One
() Two

‘ (d) Three

35

9. Forx=y>1,

let Iogx(i) + log)( —y;) = k,

then the value of k can never be equal
to

\/('() =i
1
(b) 5

() 0
(d) 1

sin20 2sin26-1 0
99. If A=|cos20 2sin@cosf 0|, then
0 0 1

which of the following statements
is/are correct ?

1. A = adjd
2. A is skew-symmetric matrix
3.4 =4

Select the correct answer using the
code given below :

(a) 1 only
) 1 and 2
(¢) 1and3

(d) 2and 3
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e 3. qfe A3 = 4, A AT n FT THAD
100, (1_x2)20(2_x2_;1_2_) & TR H x10 AR 2

T OIS FT R ?
e FRt & ¥ A-Y €
(@ -1
() 1 (a) el 1 AR 2
(c) 10
(b) ae 2 3R 3
(@) x'0% e & fera 79 2
(c) Shad 133
. 10199 &ife 7 & QA FIHAE ATgE
A 3R B3 wed # ffofam =ami (d) 1,233
q’(ﬁi’l’(ﬁﬁl’q
1. adj(4B) = (adjA)(adjB) 103, SR 3t < Ut frae el G €

2. adi(AB) = adi(all s et s aa & 2

3. (4B)adj(4B) - |4B|I,, n S = (@)~623
TF A AT &
(b) 500
I FEA § | fraw el € 2
(©) 400
@ —
(b) FaA TH F94 (&) 225
(c) &ae o &G 104. Af¢ o = I,Qaﬁww%,a}
(d) &t A (2~ 100)° + 1000 = 0 % zw 77 & 7
102. FIfE n & SR TRl 4 % wed @ 1001 - @), 1010~ w?), 10
# frafafea st w fmr $ift .
(b) 10(10 - w), 10(10 - @2), 99
1. A(adjA") = A(adjA)T ’
2. 2= 4, MAFE n w1 Toame NS 10(10 - w2, 1000
AT ©

@ (+w), 10+ 02, _
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100. What is the coefficient of x'* in the

5
20 ~
cxpansionof(l—-r x2) (2, x2___l_2,) 9
%

(@) -1
() 1

(c) 10

w/éocmcicnl of x'% does not exist

101. Consider the following statements in
respect of two non-singular matrices
A and B of the same order n :

1. adj(AB) = (adjA)(adjB)

2. adj(AB) = adj(BA)

3. (AB)adj(AB) — |4B|l, is a null

matrix of order n

How many of the above statements are
correct ?

(a) None
(b) Only one statement
(c) Only two statements

(d) All three statements

102. Consider the following statements in
respect of a non-singular matrix 4 of

order n :

1. A(adjA") = A(adjA)"

/
2. If 4> = A then 4 is identity matrix
of order n

37

3. If A* = A, then A is identity matrix
of order n

Which of the statements given above
are correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

(d) 1,2and 3

103. How many four-digit natural numbers
arc there such that all of the digits are
even ?

(a) 625
(b) 500
(c) 400

(d)y~756

104. If @ #1 is a cube root of unity,
then what are the solutions of
(z— 100)3 +1000=07?

(@ T0(1 - ), 10(10 - w?), 100
(b) 10(10 — w), 10(10 - w?), 90
() 10(1 - w), 10(10 — w?), 1000

d (1+w), (10+0?), -1
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(a) 120

i=-1%7 (b) 24
12
(d) 6
®) 0 S
108. 7fz 21201 7 & Fysmfor ferdT STC
(c) —4 STeer 99T BT 7
(d) -8 (a) 1
(b) 3
106 °‘l e 3 % 7\73: {:-1"-!*. ',“*,f:-"l :1|&"::' A ‘a; (C) 5
=8 ¥ Feafefas =991 = =R (d) 6
SR
109. n & fom 7 & fog axfors
1. wi ot o e \co.4) C(9.3) C0n-2)
i ) » ca6) C1Ls)  €12,nm) |=0
_‘7—3 3. - Ié;.—- ol - |
= T L - C(m,7) C(m,6) Cim+1,n+1)
FEs S ® - 2
) TAFE m>n S 02
3. A Fifs= #15E % | (2) 4
N (b) 5
7::#37‘—?’ FaFA-F @Rl ® ¢
(c) 6
(d 7

(a) Fa4 13172

(b) T 2 3 110. 7z 4BC 7= fraw %, o1 anh

X ) ;COSC sinB 0
(&) S 131Q tan 4 0 sin B | &7
) |0 tan(B+C) cosC
(d 1,273 o FAT R 7
- o (a) -1
107. 5% 1, 2, 3, 5 F WA F HH FH
g fam fa ww FEE FEm (b) 0
Wym-:‘uwwfﬁmmmzm (c) 1
formfom 71 7 (d) 3
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105, What 18 (1)t 4 (1 j)? equal to, (a) 120

where 1 V=17 (b) 24
(a) 4 (c) 12

(d) 6
(b 0

108. What is the remainder when 2'% is

@ 4 divided by 7 7

(a) 1
@) = (b) 3

(3 g

106. Consider the following statements in (@6
respect of a skew-symmetric matrix A4 —
of order 3 : : )
109. For what value of » is the determinant

. All diagonal clements are zero. c9,4) C9,3) C10,n-2)
c(1,6) C(11,5) c(12,n) |=0
2. The sum of all the diagonal C(m,7) C(m,6) C(m+1,n+1)

clements of the matrix 1s zero.
for every m>n ?

3. A is orthogonal matrix. (a) 4
(b) 5

Which of the statements given above
are correct ? (c) 6
d 7

(a) 1 and 2 only
110. If ABC is a triangle, then what is the

(b) 2 and 3 only value of the determinant
. cosC  sinB 0
oY 1 and 3 only tan A 0 sinB | ?
0 tan(B+ cosC
(d 1,2and3 : ©
(@) -1

107. Four digit numbers are formed by L"b)/o

using the digits 1, 2, 3, 5 without

repetition of digits. How many of them ot

are divisible by 4 ? (d) 3
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lll.m@ﬁuaﬁw,sxsaﬁ&%sna@ 14.9% x, y 9K 2z, T o & R
xy+yz+zxﬂﬂﬁ?ﬂT%?

iR |A|=EJ—§— K |B|=%9, 3

: (@ O
|2B(adj(3A))| AR TS ?
(b) 1
(a) 27 © 2
27
ge/y @ 3
(b) 50
' 115. T &9 % 7 Rewer & (4 #few SR
(0)7 336&)13%7@!11?—!'1%%?}7?@%31?
% (3 wfeard sk 4 g@9) | 3 QAT
@ 1 3 Higenall 3R 3 Gesl A fohad WHR
¥ fefa o= wsa € aife s &
112. 3% z NS wfdm den 2 sk 3 teder gew & & @R 3 Reagr s@ht
i +22—2+i=0, W&l i=~-1, Il % @ ?
A (|| +1)° 0w =2 (a) 340
@ 1 (b) 484
®) 4 (c) 485
o (d) 469
(d 121 116‘@.%PQR3¥T TFR % for T
3195 PO 51 e o %, 4 g o e
113, wefY it 0, 1, 4, 5T WA &, s TR S g RP 9o W R # | v
gt feu fomr o € SR s ﬁiﬁmaﬁéﬁmmwﬁ.ﬁa
et |l westt St anTwer = 2 7 nglwwmmﬁgﬁ
ﬁmﬁ,—aﬁ%?
(a) 44440
(@) 205
46460
g (®) 206
(c) 46440 &
(d) 64440 @ ‘390
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111. Let 4 and B be matrices of order 3%3. 114, If x, y and z are the cube roots of unity,

: th i fxy+yz+zx?
1f|A|=E—J—E and |3|=%,men okt en what is the value of xy * )z

is the value of |23(adj(3A))l ) (@ 0
(b) 1
(a) 27
(c) 2
27
B —
® 20 @ 3
(c) 27 115. A man has 7 relatives (4 women and
2 3 men). His wife also has 7 relatives
(3 women and 4 men). In how many
(d) 1 ways can they invite 3 women and

3 men so that 3 of them are man’s

_ relatives and 3 of them are his wife’s
112. If z is any complex number and relatives ?

i +22—z+i=0, where i=~/—1, then

. a) 340
what is the value of (|z|+1)2? (
(b) 484
(@ 1
(c) 485
(b) 4
(d) 469
(c) 81
(d) 121 116. A triangle POR is such that 3 points
lic on the side PQ, 4 points on OR and
5 points on RP respectively. Triangles
113. What is the sum of all four digit are constructed using these points
numbers formed by using all digits as vertices. What is the number of
0, 1, 4, 5 without repetition of digits ? triangles so formed ?
Q) A4E40 (a) 205 gREP 3
jSr3
(b) 46460 (b) 206 18
(c) 46440 ey 715
(d) 64440 (d) 220
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117, afe logya = p, log;c=2p 3R

118.

1
logre = 3p, T (ace)” Toreh sTaR & <

(@) bd*f3
(b) bdf
©) Bd*f

e

gfe wftaor

ag+ax+ay?+apd +x4 =0 %-;If{
-2 3R +3 ¥, ag, ay, ay, as
i &, q Frafafes 3§ @ el
R

(a) a2=a3=0
(b) a2=03ﬁta3=—5
(C) aO=6aa3=0

(d a,=03Ra,=5

RRAN-B-MTH - C
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119.W5ﬁﬁ"|ﬁz|3ﬁ'(zz3amﬁa
=1, @

Re(—?—)ﬂ fepeer s ® 7

(a) -1
(b) 0
() 1
@ 5
120. 7f% 26! = 8%, Tef k 3K n gAYUITF &,
@k Afercran W w2
(@ 6
(b) 7
(c) 8
@ 9



117. lf’ogba =P IOgdC = 2p and Inge = 3P’
1

then what is (ace)‘F equal to ?
(a) bd*f’
(b) bdf

(©) vd*f

d) b%d*f?

118. If —/2 and /3 are roots of the equa-

tion @y + ajx + apx? + a3 + x* = 0
where a, ay, a,, ay are integers, then
which one of the following is correct ?

(a) a, = ag = 0
(b) a;=0 and a3 = -5
(©) ay=6,a;=0

d a=0anda,=5

2'/2/3/%'{‘

119, Let z; and z, be two complex numbers

Z) +2'2

such that =1, then what is

Z1— 2y

Re[i) +1 equal to ?
)

(@) -1
w70
(2l

d) 5

120. If 26! = n8*, where k and » are positive

integers, then what is the maximum
value of £ ?

N

‘N

(c) 8

=g

& A

e~ f e
fros ) s(r &)V R VANe) Y L j;f’l xS
oo ] 25
95 @r3t
kU (r-x/b;)UU"")ﬁ"*/”@) g ‘
- v
- o™ =
(,;w@) d (50} S Sge
' 2 |
2 s :
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